https://docs.google.com/spreadsheets/d/1asV5gimFf3q3gxjbSClgYiWlctV YJmdmlarn2bP048/edit?gid=10
35763666#01d=1035763666 (testing cost)

https://hail.zulipchat.com/#narrow/channel/223457-Hail-Batch-
support/topic/Way.20to.20reduce.20costs. 20further/near/391208898 (chat about Hail batch machine type)



https://docs.google.com/spreadsheets/d/1asV5qImFf3q3gxjbSCIgYiW1ctV_YJmdm1arn2bP048/edit?gid=1035763666
https://docs.google.com/spreadsheets/d/1asV5qImFf3q3gxjbSCIgYiW1ctV_YJmdm1arn2bP048/edit?gid=1035763666
https://hail.zulipchat.com/
https://hail.zulipchat.com/

2023-12-25

<BioX 18K - BGE Ip-WGS Glimpse imputation using Hail batch>
Submitted

Hail batch ID Cohort Succeeded Failed Duration
Sample batch

82092419 BioX case phase_index: c4-standard-t4: sample200 |44 44 0 1 day 13 hours 52,695.08
8092371 BioX control phase_index: cd-standard-t4: sample200 |3 3 0 3 hours 24 minutes 5180.60
8092374 BioX control phase_index: cd-standard-t4: sample200 (41 39 2 1 day 6 hours 52,475.69
8093229 BioX control phase_index: ¢B-standard-t4: sample200 (2 2 ] 2 hours 56 minutes 50.81

~ 3 days 55,352.19

1. Completed BioX 18K imputation using Hail batch
a. Decreased expected cost after removing singletons from reference panel
I.  Same concordance with “all variants from ref’
ii. 4-Standard-4 was the most efficient and time-reasonable
b.  Glimpse2 imputation for BioX 18K using Hail batch
i.  Hail batch machine type: 4core/ Standard memory/ 4 threads
ii.  Input: 18K BGE BioX (EAS) crams
iii.  Use of Glimpse2's ref-only mode
1. if we want to use combined model (not yet released) in future, cromwell on terra would be better
than hail batch since the job duration of hail batch becomes longer, the probability of failure in the
hail batch increases
iv. Reference panel: chrl- ch r22 from Singapore 5k W|thout singleton (4cM chunks)

C. Now runnlng average AF & aggregated INFO


https://docs.google.com/spreadsheets/d/1asV5qImFf3q3gxjbSCIgYiW1ctV_YJmdm1arn2bP048/edit

Imputation accuracy for abignet 83 samples on chrl_22 (all vs rmSingle)
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—e— SGSK rmSingleton (Aggregate r2)
- - o v Hin;‘r alleleilfrequen'c].r %) eomEEn
All variants from Ref [sg5k) ‘Without singletons from Ref [sg5k)
gnomad EAS maf bin Hvariants gnomad EAS maf  aggR2  |gnomad EAS maf bin #variants  gnomad EAS maf  aggR2
00.1% 110,618,834 0.00049065 0904738 00.1% 110,618,834 0.00049065  0.905247
0.10.2% 49,471,896 0.00149672 0.909962 0.170.2% 49,471 896 0.00149672 0.910666
0.270.5% 75,226,220 0.0033031  0.907685 0.270.5% 75,226,220 0.0033031  0.908455
0.5~1% 65,801,248 0.00721831 0.921033 0.5~1% 65,601,248 000721831 0.921922
1~5% 172,788,193 0.0252088 0.960025 1~5% 172,788,193 0.0252088 0.960363
5~10% 00,497,845 0.0730934  0.931442 5~10% 90,497 845 0.0730934 0.98151
10208 122 648,580 0.14712 0987072 10~20% 122,648,580 0.14712 0.987109
2050% 259,198,199 0.343604 0983548 2050% 259,198,199 0.343604  0.989589
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Lohe feare-low-mem = 150.9) thread sample
(core:standard mem = 1:3.75)
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- ad T o (armple size) T n [rample size]  Tor a saemphe 2 x| sarmple sine) T w [cample size]  bor s samphe Expected cost for 18

£h__|sandee |k w0 Hmissie Sl S Out of mamory Zhown Tmiutes (3050 ] S RILTE c4-standard-t4 is the most efficient,
el itandard (L 1 Hheurd St Ot ol memary 1 honr & mirnted el L] Shah SRRdLAD . . .

o sanded W 9 it b 3587 Out of memary 5 minutes 264 3018 50.50 $8,07178 but it’s still expensive

o8 standeed 18 w0 s daminut £0.51 Out of memary 1 o 15 minabes 5073 £0.53 950259 because I calculated this expected
o8 standaed 48 100 33 mievter S8 Outol memany 42 mrinutes 10 50,80 s0.58 £10,845.74 cost based on the assumption of
o4 standaed 12 w0 3hours 19 minutes  $L01 5073 2 howrs SOminutes  50.88 5063 $11,427.69 . X . A .

o8 standaed 14 00 1 hour 45 minutes s1.09 s078 1 hosar 5 misastes snme S0.64 511, 450.85 using bins with maximum size.
8 standaed 18 0 35 mievterdr——— S8t Outol memary 23 mminutes 545 4022 S0.65 £11,628.23

8 standeed 14 100 55 misntes Bt 5054 5077 47 mminutes 335 $0.47 S0.67 $12,100.74 So, the actual cost has been lower
8 smndeed 5 31 vt 461 £0.30 086 $85,499.13 26 mvinutes 94 $025 S0.71 £12,777.08

¢4 standsed 12 w0 55 mifrates 2% 5028 080 $84A453.TE 49 eminutes 455 5025 50.72 £12,953.03 than expected!

o jmedid Wl T ? el 5008 Dutefememary  Oul of memery 11 mninutis 208 05 T $13,212.13 ->$5,353.19

=] standard [+ 10 1 haur 38 minutes 050 an S99 2 hgmars B mibsusted 060 S0.BE 515, 56181

ol standard 1 hL] 1) mirsate S sooor 5095 $17.155.15 1 minubes §i soor 0.5 S16.9T4.00

o standard B8 10 10 miretes 413 S0.08 s1a2 S 82.00 @ minutes. B sanr 108 S18914.03

o standeed 14 1w 10 mirvtes B 009 $1.27 2250515 9 minutes Bs 50008 5113 $30,286.00

©4  standsed 41 100 3 hours 20 minutes 5101 5145 £26,157.04 2hoers A8 minutes 5085 L £12,050.68

8 standaed 12 00 3hours 17 minwtes 101 $144 £25 54098 2 hosars 47 minutes. 171 sL1 £12,147.71

8 standeed 12 100 1 hour 41 minutes s102 5146 $26,304.53 1 hosar 25 miisastes $0.86 5113 $22,211.10

cd  standeed 1l 5 1 hour 31 minutes £0.47 134 £24,156.50 1 bhcsar 15 milsastes 4043 LTE") £12,309.43

& smnded 12 0 55 mirsstes 354 5055 157 $28, 148,65 45 mrinutes 525 4045 (TR £13,406.53

e sundeed 11 w0 6 hours 24 minetes 5195 5140 $25,M6.14 6 hors W0 mminutes 5184 $1L.3 £13,777.83

o amnded 1l 18 14 it B 4811 $169 $30,506.63 20 srieistis 208 $a10 s147 16, 496,00

ol itandard 1F} L= 14 mirete S0 013 F3R R R ] b minutes 14 sir 1.4 FEIRECH ]

e lerarmiam 1 b e 6 hauri M minte LLE1 L1 6D S46, TI0 R 5 honarn O evinuted th10 PR SAD,050.58

e loramasm tl ] 1 hiur 44 minutes 50.9% SLTa A9, 14508 1 homar T mirastes: T $23.30 40, 100.08

o lowmem 1l 100 & hours 7 minutes 5$2.90 S48 $75,161.70 2 hvomars 53 minutes $1.56 Som $40,341.71

= 3 standaed  ©1 Foo ] G hours #4 minuies .09 krd 45251008 5 hosrs 26 ménutes $3.34 240 43, 219.01

4 standeed 11 100 3hours 15 minutes  $1.97 5183 $51,025.50 2hows 46 minutes 5168 S22 $43,563.15

8 standsed 11 w0 2 hours 57 minates  S1.57 sa52 £81, 19890 1 st 25 miisastes o8 S2.45 £44,137.58

& lwmem 1l 1m 14 mirstes 300 £0.20 150 $52,167.50 22 mvinutes 295 so18 $1.61 £47.050.50

8 smndsed 11 i 17 mirnnes 43 5021 5330 $57,623.63 20 eminutes 155 5019 5277 £49,809.38
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